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QUESTION 1

A service group is in a fully online state. What will occur if an administrator temporarily freezes the group and a resource
faults? 

A. The resource enters a faulted state and the group enters a partial state. 

B. The resource enters a partial state and the group attempts to fail over. 

C. The resource enters a partial state and the group enters a partial state. 

D. The resource enters a faulted state and the group attempts to fail over. 

Correct Answer: A 

 

QUESTION 2

An administrator created three servers with the AutoStartPolicy set to Load. Which system attribute quantifies the
available System Load? 

A. Capacity 

B. Load 

C. AvailableCapacity 

D. SystemLoad 

Correct Answer: C 

 

QUESTION 3

How can an administrator create a new service group in a running cluster using Cluster Explorer? 

A. select File, Add, and then Service Group 

B. select Tools, Add, and then Service Group 

C. select View, Add, and then Service Group 

D. select Edit, Add, and then Service Group 

Correct Answer: D 

 

QUESTION 4

A disk in a Dynamic disk group shows a status of Failing. What is the likely cause of the condition? 

A. The disk is corrupted. 
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B. The disk is experiencing hardware errors. 

C. The disk is unrecognized by the system. 

D. The disk is experiencing I/O errors. 

Correct Answer: D 

 

QUESTION 5

Which two load balancing polices are supported with Dynamic Multi-Pathing (DMP)? (Select two.) 

A. Weighted Paths 

B. Fault Tolerance 

C. Dynamic Recovery 

D. Least Blocks 

E. Dynamic Path Recognition 

Correct Answer: AD 
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